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mak MR RIE g0 w0 muw pen mag o0 AU
NAF=F 123 H 5/7 5/14 8.7 5.7 1/22 1/23 1/23 9/9 125.2
INAA=7 125 H 5/7 5/14 9.0 6.4 1/217 7/28 1/217 9/10 126.1

R/—T 2k 125T($E2#) 5/7 5/14 9.0 7.2 7/23 7/24 7/25 9/11 127.2
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INMA=F7 123 B 283 140 27.0 1.2 1.3 97.8
INMA=F 125 H 326 184 30.6 0.7 48 90.8
A/—TFT Uk 125T(AB#) 294 156 294 0.3 8.2 81.1
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AR (kg/10a) (%) ik e 5 25 (%) (kg/10a) 3t £ (%)
INMA=F7 123 B 5,667 33.7 1,907 1,106 57.9 1,406 103.8
INMA=F 125 B 7,818 25.7 2,008 837 415 1,393 102.8
R/—T 2k 125T($Z2#£) 6,825 27.8 1,897 935 49.1 1,355 100.0
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i 4 CEERF TIRFE" BUEE (%) RE%) RE (%) FHE (%)
RAA=7 123 B 1.6 2.0 1.6 0.0 0.4 48.4
AA=7 125 R 1.4 1.2 2.2 0.0 0.0 3.3
R/—T Uk 125T (1B #) 24 1.1 1.0 0.6 0.3 57.5

N:BRR1~1BRO
2): REICKDITBREKRDEE

(3) F&
7L

(4) F[EBFIEHE R
7L

s

=111

7417



